Question 1403181000
Pure tensile test.
SolidWorks comments




MODELBENCH

e SolidWorks solution

It is all OK. Energy is not provided as output but is correct as
Force*displacemente/2.
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— ield strength: 170,000,000.0

T

|_Universitat Ramon Liull
input E MPa 2.00E+05]
\Y - 0.266)
Fz N 1000
b mm 10,
h mm 1
L mm 100
Output |sz MPa 100
L'-L mm 5.00E-02
b'-b mm -1.33E-02
En J 2.50E-02
Fz N 1000
I (mm))
1.329e-004
1.219e-004
_ 1.105e-004
_ 9.970e-005
_ §.862e-005
_ ¥.755e-005
. | G6.647e-003
_ 5.539e-005
_ 4.431e-005
. 3.323e-005
2.216e-005
1.108e-005
0.000e+000
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